MATHS

BOOKS - SRS PUBLICATION

DATA HANDLING

Question Bank

1. Find the arithmetic mean of first three multiples of 5?7

o Watch Video Solution

2. Collect the information about weights of any ten students of your
class in kg and answer the following:

What are the greatest and smallest weights?

| o Wiatkll . \nNdaa CaAliidiam


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UtAosmEGueEJ
https://dl.doubtnut.com/l/_hsovVjPSHF2t
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3. Collect the information about weights of any ten students of your
class in kg and answer the following:

Find arithmetic mean of collected data.

o Watch Video Solution

4. Collect the information about weights of any ten students of your
class in kg and answer the following:
Verify whether arithmetic mean lies between greatest and smallest

observation or not?

° Watch Video Solution

5. Find arithmetic mean of 4,5,11,8

o Watch Video Solution



https://dl.doubtnut.com/l/_hsovVjPSHF2t
https://dl.doubtnut.com/l/_DMlpoLRA3kd4
https://dl.doubtnut.com/l/_QQLlWcpG9FX3
https://dl.doubtnut.com/l/_6Nny8P1GMLbn

6. Find arithmetic mean of 10,15,21,12,27

o Watch Video Solution

7.Find arithmetic mean of 1/4,1/2,3/4,3/2,5/4

o Watch Video Solution

8. Amounts denoted by eight students to NIVAR cyclone affected
people are rs 300, 450 ,700,650,400 ,750 ,900 ,850 .find the arithmetic

mean of amounts denoted.

° Watch Video Solution

9. The number of passengers who travelled in APSRTC bus from Eluru

to rangapuram in 5 trips in a day are 35,42,41,28 and 44. What is the


https://dl.doubtnut.com/l/_6Nny8P1GMLbn
https://dl.doubtnut.com/l/_7o6dyGlUEoME
https://dl.doubtnut.com/l/_ez2ziCHqC2KQ
https://dl.doubtnut.com/l/_A2ZXp4keexdd
https://dl.doubtnut.com/l/_hv1DYcHiTvHs

average of number of passengers travelled per trip?

° Watch Video Solution

10. Find arithmetic mean of factors of 247

° Watch Video Solution

11. Find arithmetic mean of x,x+1 and x+2 .

° Watch Video Solution

12. What is the range of first ten whole numbers?

° Watch Video Solution

13. Find the mode of 10,9,12,10,8,7,6,10,9,7,8,5 and 2



https://dl.doubtnut.com/l/_hv1DYcHiTvHs
https://dl.doubtnut.com/l/_ktyiw0oC3Jz9
https://dl.doubtnut.com/l/_IYR6GERR96lq
https://dl.doubtnut.com/l/_vlZ9zELtxrNG
https://dl.doubtnut.com/l/_E687raqYW3n7

| o Watch Video Solution

14. Take a dice roll it 20 times and record the numbers you got on its

top face.find the mode of resulting numbers.

° Watch Video Solution

15. The following data shows that the number of hours spent by

students to study.find the mode

Number of study hours | 1 2 3 [ 4| s
Numberofstudents | 4 [ "2 | 1 | 2 [/ 1

° Watch Video Solution

16. Find mode of the following data

2,3,7,5,3,2,6,7,1,2

| ° Wiak~h \iAdAA CAliikian



https://dl.doubtnut.com/l/_E687raqYW3n7
https://dl.doubtnut.com/l/_zSDw7HsrGooV
https://dl.doubtnut.com/l/_xRw0djC80mjx
https://dl.doubtnut.com/l/_1GvPHuLF1XNQ
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17. Find mode of the following data

K,A,B,C,B,C,DK,B,D,B,KAK

o Watch Video Solution

18. Find mode of the following data

First ten natural numbers.

o Watch Video Solution

19. Find mode of the following data

2,2’3 ’3 ’4 ’4’5’5’6’6’7’7’8’8’

o Watch Video Solution



https://dl.doubtnut.com/l/_1GvPHuLF1XNQ
https://dl.doubtnut.com/l/_7dIGOZB7BQkm
https://dl.doubtnut.com/l/_JLFxnRutJQtm
https://dl.doubtnut.com/l/_jDqFv8SgB3Ve

20. 20 students were participated in "SWACHH BHARAT ABHIYAN"
campaign. The number of days each student participated were

51,2,41,23,21,23253,4,213,4, and 5. find mode of the data?

o Watch Video Solution

21. The number of goals scored by a football team in different matches

are 3,2,4,6,1,3,2,4,1,and 6. Find mode of the data.

o Watch Video Solution

22. Find the mode of letters in the adjacent figure verify whether it is

unimodal or bimodal data


https://dl.doubtnut.com/l/_w0dGBLF373RS
https://dl.doubtnut.com/l/_dFZ3ftOiWrj3
https://dl.doubtnut.com/l/_4GHQmAIYkwDO

o Watch Video Solution

23. What is the median of first 7 prime numbers?

° Watch Video Solution

24. Find the median of 7,3,15,0,1,71,19,4,17

° Watch Video Solution



https://dl.doubtnut.com/l/_4GHQmAIYkwDO
https://dl.doubtnut.com/l/_k1qTo1FRJ4vh
https://dl.doubtnut.com/l/_sGVBwNguY0cH

25. Find the median of 12,23,11,18,15,20,86,27

o Watch Video Solution

26. The number of pages in textbooks of different subjects are

421,175,128,117,150,145,147,and 113 find median of given data/

° Watch Video Solution

27. The weekly sales of motor bikes in a showroom for the past 14

weeks are 10,6,8,3,5,6,4,7,12,13,16,10,4 and 7 find the median of the data?

o Watch Video Solution

28. Find the median of 0.3,0.25,0.32,0147,0.19,0.2 and 7.1

o Watch Video Solution



https://dl.doubtnut.com/l/_Sgr46QIzU0q5
https://dl.doubtnut.com/l/_B3NQ5byMKRgv
https://dl.doubtnut.com/l/_ps3RiVA4KuYm
https://dl.doubtnut.com/l/_tXFYWZ3skCh6

29. If the median of observations 2x,3x,4x,5x,6x is 28 then find the value

of x?

o Watch Video Solution

30. Observe the adjacent bar graph and answer the following

| 40! Fruit

. 35 ' *
30
-
20—
15

10 _

Number of People

Apple Orange Banana - Eiwi

Which fruit most of the people like?

o Watch Video Solution



https://dl.doubtnut.com/l/_tXFYWZ3skCh6
https://dl.doubtnut.com/l/_taMwomfem5ey
https://dl.doubtnut.com/l/_LjmPA7Ffg5Us
https://dl.doubtnut.com/l/_PmL3twZWlgZa

31. Observe the adjacent bar graph and answer the following

40 ,Fﬂm
. 15 .

30
-
20
15

10 _|

Number of People

Apple  Orange

How many people likes banana?

° Watch Video Solution

32.In the adjacent double bar graph number of students of a class are

shown according in academic year


https://dl.doubtnut.com/l/_PmL3twZWlgZa
https://dl.doubtnut.com/l/_DzWaimOdmXrO

o
>

"Number of students

.

ez B8 858 8 83 8%

!

Ww20I3-14- 2014-15  2005-16  2016-17  2017-18

ey

Answer the question on the basis of this double bar graph.
In which academic year number of girls were more than number of

boys in the class?

° Watch Video Solution

33.In the adjacent double bar graph number of students of a class are

shown according in academic year


https://dl.doubtnut.com/l/_DzWaimOdmXrO
https://dl.doubtnut.com/l/_OWu6gKmqkyNI
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Answer the question on the basis of this double bar graph.
IN which academic year number of both girls and boys in the school

were equal ?

° Watch Video Solution

34.In the adjacent double bar graph number of students of a class are

shown according in academic year


https://dl.doubtnut.com/l/_OWu6gKmqkyNI
https://dl.doubtnut.com/l/_6XQRjPgjdfCN
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Answer the question on the basis of this double bar graph.

What was the total number of students In the school in the academic

year 2013-2014?

o Watch Video Solution

35. The adjoining pie chart gives the expenditure on various items
during a month for a family.In the figures angles made by each sector

at the centre are given the answer the following


https://dl.doubtnut.com/l/_6XQRjPgjdfCN
https://dl.doubtnut.com/l/_UcDDapXkncQj

Food- [l
Savings-

Education i}
Rent- [}

On which item the expenditure is minimum?

o View Text Solution

36. The adjoining pie chart gives the expenditure on various items
during a month for a family.In the figures angles made by each sector

at the centre are given the answer the following


https://dl.doubtnut.com/l/_UcDDapXkncQj
https://dl.doubtnut.com/l/_iGl13pZDryht

On which item the expenditure is maximum?

o View Text Solution

37. The following data show the number of students opting different

subjects in college

Subjects | Botany | Mathematics| Physics Chemistry | Economics| Commerce
No.of . -
students | 45 | &0 | 20 0 | 10 15

Construct a pie diagram to represent the above data.

o Watch Video Solution



https://dl.doubtnut.com/l/_iGl13pZDryht
https://dl.doubtnut.com/l/_8aaykvIUVZ7R
https://dl.doubtnut.com/l/_65QsQF63Z2By

38. Runs made by two batsman in 3 matches are given below
Kohli: 49,98,72
Rohit : 64,4583 then find average of runs scored by kohli and

rohit.whose average is better?

o Watch Video Solution

39. Find mode of 38,42,35,37,45,50,32,43,43,40,36,38,43,38,and 47. verify

whether it is unimodal or bimodal data.

o Watch Video Solution

40. The temperature in different places are 0,-5,7,0,13,-1,and 41 in
degree celsius.Find the median. If another observation 4°C' is added

to the given data is there any change in value of median? Explain ?

o Watch Video Solution



https://dl.doubtnut.com/l/_65QsQF63Z2By
https://dl.doubtnut.com/l/_dJMBZ99Fl5cy
https://dl.doubtnut.com/l/_nccfmJu1nLJH

41. If the range of observation 7x,5%,3x,2xx,(z > 0) is 12 . Then find

value of x and express all the observation in numerical form.

o Watch Video Solution

42. Birth and death rates in different states in 2015 are given below.

Draw a double bar graph for the given data

“ State " Birth rate (per 1000) | | Death rate (per 1000)
Andhra Pradesh | 17 o . 7 '
Aruliacha!Prﬁdesh" 19 e : 6 -
Tamil Nadu - .iS !
harkhand - Y , 6 .
X G_u_jamt . - 20 I 6
' Odisha - | 19 8

o Watch Video Solution

43. In the following alphabetical series what wiil be the next term in

the given series.Choose the next term from the options B,F,N,R,V


https://dl.doubtnut.com/l/_dHWKNry6JeH2
https://dl.doubtnut.com/l/_p1gOH4ZU8wgm
https://dl.doubtnut.com/l/_0GjIUT4A2Il5

AZ

B.W

C.X

D.W

Answer: A

° Watch Video Solution

44. In the following alphabetical series what wiil be the next term in

the given series.Choose the next term from the options A,C,E,G,|,K

AP

B.O

C.N

D.M


https://dl.doubtnut.com/l/_0GjIUT4A2Il5
https://dl.doubtnut.com/l/_51D20dpY5Q2c

Answer: D

° Watch Video Solution

45. In the following alphabetical series what wiil be the next term in

the given series.Choose the next term from the options M,0OR,T

AW

B.U

C.Vv

D.Q

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_51D20dpY5Q2c
https://dl.doubtnut.com/l/_jlEySZIKkSMT

46. In the following alphabetical series.what will be the next term in

the given series.Choose the next term from the options U,S,PL

A F

B.G

C.H

D. 1

Answer: B

° Watch Video Solution

47. In the following alphabetical series what wiil be the next term in
the given series.Choose the next term from the options

ZAYBXCWD

A. UE


https://dl.doubtnut.com/l/_vqqF2JmKlJi2
https://dl.doubtnut.com/l/_qxkzt74e9jHm

B.EV

C.VE

D.SH

Answer: C

o Watch Video Solution

48. In the following alphabetical series what wiil be the next term in

the given series.Choose the next term from the options

AM,BO,CQ,DS,EU

A. WF

B.FU

C.Ggv

D.FW

Answer: D


https://dl.doubtnut.com/l/_qxkzt74e9jHm
https://dl.doubtnut.com/l/_x1hprvxoSuSx

o Watch Video Solution

49. In the following alphabetical series what will be the next term in

the given series.Choose the next term from the options

ZYXV,UR,QM

A LG

B. LI

C.LH

D. K]

Answer: C

o Watch Video Solution

50. In the following alphabetical series what wiil be the next term in

the given series.Choose the next term from the options. AC,DF,GI,JL


https://dl.doubtnut.com/l/_x1hprvxoSuSx
https://dl.doubtnut.com/l/_KMRpADOXQ9kE
https://dl.doubtnut.com/l/_UHlvHceytgFO

A.NO

B. MO

C.MN

D. NP

Answer: B

° Watch Video Solution

51. In the following alphabetical series what wiil be the next term in

the given series.Choose the next term from the options DN,EM,FL,GK,H)

A IK

B. GI

C.l

D. 1l


https://dl.doubtnut.com/l/_UHlvHceytgFO
https://dl.doubtnut.com/l/_NtYCBgu2aJz6

Answer: D

° Watch Video Solution

52. In the following alphabetical series what wiil be the next term in

the given series.Choose

CBASTU,FED,VWX

A.HG

B. GHI

C. K

D.YZA

Answer: A

the

next

term from

the

options

° Watch Video Solution



https://dl.doubtnut.com/l/_NtYCBgu2aJz6
https://dl.doubtnut.com/l/_KoUpLSDgQQ33

53. In the following alphabetical series what will be the next term in

the given series.Choose the next term from the options

AZCDYFRGXIJWL

A.OVM

B. UNV

C. MVO

D. MNO

Answer: C

° Watch Video Solution

54. In the following alphabetical series what wiil be the next term in
the given series.Choose the next term from the options.

ABQ,CDL,EFM,GHN _

A.JIO


https://dl.doubtnut.com/l/_GTEsqOLSU28T
https://dl.doubtnut.com/l/_jW8AGrimRcn8

B.1JO

C. MNO

D. ONM

Answer: B

o Watch Video Solution

55. In the following alphabetical series what will be the next term in
the given series.Choose the next term from the options
A2C,D5F,G8IJ11L

A. M140

B. M120

C.N15P

D. N12P

Answer: A


https://dl.doubtnut.com/l/_jW8AGrimRcn8
https://dl.doubtnut.com/l/_HpJg7KSMsRuy

° Watch Video Solution

56. In the following alphabetical series what wiil be the next term in

the given series.Choose the next term from the options.

A,CD,HIJ,PQRS

A.ZABCD

B. ZYXW

C. ABCDE

D. RSTUV

Answer: C

° Watch Video Solution

57. In the following alphabetical series what wiil be the next term in

the given series.Choose the next term from the options. ABC,DEF,GHI)


https://dl.doubtnut.com/l/_HpJg7KSMsRuy
https://dl.doubtnut.com/l/_y6Gs10FaP2D8
https://dl.doubtnut.com/l/_N93MCqh4e7oe

A. KLMNP

B. LMNOP

C. KLMNO

D. JKLMN

Answer: C

° Watch Video Solution

58. What is the mean of first 10 natural numbers?

A.35

B.7.5

C.6.5

D.55

Answer: D

| e


https://dl.doubtnut.com/l/_N93MCqh4e7oe
https://dl.doubtnut.com/l/_bnJDUDsPDsh4

| & Watch Video Solution

59. The mean of 2,x,5,y and 14 is 6 then which of the following is true?

A. x+y=13

B. x+y=9

C. xy=12

D. 2x+y=12

Answer: B

o Watch Video Solution

60. Find the arithmetic mean of first 6 prime numbers?

A.583

B. 8.63


https://dl.doubtnut.com/l/_bnJDUDsPDsh4
https://dl.doubtnut.com/l/_sci4xxpwland
https://dl.doubtnut.com/l/_f6FMBkWLTZ0o

C.6.83

D.9.63

Answer: C

° Watch Video Solution

61. Find the mean of first five whole numbers.

Al

B.2

C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_f6FMBkWLTZ0o
https://dl.doubtnut.com/l/_2Vbjpy54ZOz3
https://dl.doubtnut.com/l/_xT0Vs2HnMzQa

62. Find the mean of first 6 natural numbers?

A.55

B.6.5

C.35

D.4.5

Answer: C

° Watch Video Solution

63. The median of 16 whole numbers is

A.65

B.7.5

C.95

D. 85


https://dl.doubtnut.com/l/_xT0Vs2HnMzQa
https://dl.doubtnut.com/l/_gUR5T9HwnVH4

Answer: B

° Watch Video Solution

64. What is the shape of each part in pie chart?

A. Sector

B. Chart

C.Cone

D. Cylinder

Answer: A

o Watch Video Solution

65. If the median of the data 24, 29, 34, 38, x is 29, then the value of x is.

(i) x > 38(ii ) x < 29 (iii) x lies in between 29 and 34( iv) none


https://dl.doubtnut.com/l/_gUR5T9HwnVH4
https://dl.doubtnut.com/l/_2Bo6XcP19yYm
https://dl.doubtnut.com/l/_ItH6PPq6zIgt

A. more than 38

B. less than 29

C. between29 ;34

D. none of these

Answer: B

o Watch Video Solution

66. Total data is represented as relative size of components in a

A. Pie diagram

B. Pictograph

C. bar graph

D. Sector

Answer: A

| e


https://dl.doubtnut.com/l/_ItH6PPq6zIgt
https://dl.doubtnut.com/l/_04sLR7wMM70L

| & Watch Video Solution

67. Statement (D): The most frequently occuring value of set of
observations is called the mode. Statement (E) : Always mode is exist
any given data: Statement (F): Some times there will be no mode for
the given data.

A. Arithmetic mean

B. Median

C. Mode

D. Range

Answer: C

° Watch Video Solution

68. Find the median of first 5 natural numbers.


https://dl.doubtnut.com/l/_04sLR7wMM70L
https://dl.doubtnut.com/l/_zehUwcMWJ6Cd
https://dl.doubtnut.com/l/_ge7r0LxPUqgD

A.6

B.8

C.10

D.30

Answer: A

° Watch Video Solution

69. The sum of four observations is 44.what is the mean

A.10

B.9

C.8

D.1N

Answer: D



https://dl.doubtnut.com/l/_ge7r0LxPUqgD
https://dl.doubtnut.com/l/_gqGZfDrmbNbP

| & Watch Video Solution

70. The mean of 11 observations is 12.What is the sum of observations?

A 122

B.132

C.142

D. 152

Answer: B

o Watch Video Solution

71. In a survey finding number of people watching TV serials are given

below answer the questions


https://dl.doubtnut.com/l/_gqGZfDrmbNbP
https://dl.doubtnut.com/l/_1P5ahg2DNdsJ
https://dl.doubtnut.com/l/_1a8ltlzN8tZF

- T‘ngﬁa] ’ Vas ,_-3=_...-N|J.-que'lfipf]_g:j )
' - L . ,Watching serials in-a city
1. Mudda Mandaram ] 29,618 -
2. *Pakkinti Ammayi .+ | 47,900 | ©
3. Kaiyana V{ghogam ' o 40_:1'56: .
| 4 MugaManasulu . . 50,715 -l

what is the most popular show from the above table?

A. Mudda mandaram

B. Pakkinti ammayini

C. Kalyana vaibhogame

D. Muga manasulu

Answer: D

o Watch Video Solution

72.1n a survey finding number of people watching TV serials are given

below answer the questions


https://dl.doubtnut.com/l/_1a8ltlzN8tZF
https://dl.doubtnut.com/l/_puXggr8jSmJW

A OE --'Nu:qf people- - -

TV serial ople: - -
- o ..~ ,Watching serials in-a city
1. Mudda Mandaram _ 29,618 -
2. 'Pakkinti Ammayi  + | 47,900 ,
3. Kaiyana V{Ehogam ’ - 40;1'56_.' .
| 4 MugaMamasuhu , . 50715 - i E

Which concept used to know most popular show ?

A. Mean

B. median

C. mode

D. none

Answer: C

o View Text Solution

73. An invigilator wants to bring sufficient number of additional papers

to the examination hall.

A. Mean


https://dl.doubtnut.com/l/_puXggr8jSmJW
https://dl.doubtnut.com/l/_fiJaBbdo0mRr

B. median

C. mode

D. none

Answer: A

° Watch Video Solution

74. Preparation of the number of laddus for a marriage.

A. Mean

B. median

C. mode

D. none

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fiJaBbdo0mRr
https://dl.doubtnut.com/l/_vkvZ0CUVu0Qo

75.For finding the favourite cricketer in a class

A. Mean

B. median

C. mode

D. none

Answer: B

o Watch Video Solution

76. Find the median of first five odd natural numbers.

A5

B.4

C.2


https://dl.doubtnut.com/l/_vkvZ0CUVu0Qo
https://dl.doubtnut.com/l/_5EqtOX31778S
https://dl.doubtnut.com/l/_ctrLvIIXO1FS

D.8

Answer: A

o View Text Solution

77. What is the mode of unit digits that are present in the numbers

between 50 to 60 ?

Al

B.5

C.2

D. NIL

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ctrLvIIXO1FS
https://dl.doubtnut.com/l/_fWkazo3T5f4r

78. When there is no mode for a particular data we can say the mode is

Al

B.O

C.2

D. NO MODE

Answer: D

o Watch Video Solution

79. What is the mean of factors of 12 ?

A. 5.66

B.3.76

C.4.66

D. 8.66


https://dl.doubtnut.com/l/_uLmhal9s9nTg
https://dl.doubtnut.com/l/_s8cj8LmnpONg

Answer: C

° Watch Video Solution

80. What is the median of first 5 multiples of 11 ?

A .32

B.33

C.34

D. 35

Answer: B

o Watch Video Solution

81. The mean of x+2,x+7 x+6 is 25 then find the observations.

A. 11,1216


https://dl.doubtnut.com/l/_s8cj8LmnpONg
https://dl.doubtnut.com/l/_snudznx3XSB4
https://dl.doubtnut.com/l/_3l8iPiM1sF5F

B.2,7,6

C.13,16,17

D. 15,16 ,17

Answer: B

° Watch Video Solution

82. Weight of food that term ate each day is given in the table
' (##SRP_MAT VII_C06 E06 025 QO1png" width="80%">
How much weight of food per day does he ate on an average?
A.78313 gr
B.8733 gr

C.8428 gr

D.784.3 gr

Answer: C


https://dl.doubtnut.com/l/_3l8iPiM1sF5F
https://dl.doubtnut.com/l/_L4eWXc32jROn

o View Text Solution

8. The following table shows the scores of player in each game.

Observe it and answer the questions

Player [ Game-17[% 7 Games2 | T Gime-3
| Jobn 20 - T 15

Venkat' | 20 ’ 0 12

Rahim . 14 ‘15 ' g

Who is the best player?

A.john

B. venkat

C.rahima

D. all

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_L4eWXc32jROn
https://dl.doubtnut.com/l/_WPA3gTAia4Wz

84. The following table shows the scores of player in each game.

Observe it and answer the questions

Flayer =] Game-17] 5 7 Gaidez | .. Ghme-3
John 20 - G . 157
Venkat' | 20 T 0 . 12
Rahim . 14 ‘15 - g

Which mathematical concept is used to know the best player?

A. mean

B. median

C. mode

D. all

Answer: A

° Watch Video Solution

85. Identify the one which is not affected by maximum and minimum

value of the data?


https://dl.doubtnut.com/l/_gWdwzSiorIMJ
https://dl.doubtnut.com/l/_3UlXo4AY7IHl

A. mean

B. mode

C. median

D. none

Answer: C

o View Text Solution

86. Find the difference between mean and median of the following

data 3,16,24,13

A 15

B.2.5

C.05

D.3


https://dl.doubtnut.com/l/_3UlXo4AY7IHl
https://dl.doubtnut.com/l/_RsTUInsNk9n5

Answer: C

° Watch Video Solution

87. Observe the table and answer the question based on the table

I-‘.]ayamkrama (Snlanka) - 500 ¢ -

R. Panth (India) 482 4 )
K. Perera (Srilanka) T 465 5

E. Morgan (England) 422 ¢ -

A Dananjaya (Srilanka) . 395 3

A. Pjayawickrama

B. K panth

C.k peera

D. A. dhananjay

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_RsTUInsNk9n5
https://dl.doubtnut.com/l/_Ng3FXizNSrGT

88. Observe the table and answer the question based on the table

Number of mach

F"I“th&ﬁf‘ Batéman Runs sdored |

P. Ia}ramkrama {Snlanka 500 . B

R. Panth (India) 482 ‘4
| K. Perera (Srilanka) 465 5

E. Morgan (England) 2 '
*| A.Dananjaya (Srilanka) 395 3

A.R.panth

B. Emorgan

C.K.peera

D. Pjayawickrama

Answer: D

&

o View Text Solution



https://dl.doubtnut.com/l/_xibbUPLqpQgS

89. Nani practices yoga regularly for a week as follows

:

" Day Mon |, Tue | Wed

Thur

Fri

Sat

Sun

Minutes, | 20 35 | . 40

30

25

- 45

15

The average time spent per day by naniis

A. 25 min

B. 32 min

C.24 min

D. 30 min

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_psEjKH12iJlY

Telugi

Highest marks = 15
10 |-

Il

Least marks

L o

90-  — - C - E

From this what can you conclude

A. Mean is nothing but mode

B. Mean always lies between lie highest and lowest observations of

the data

C. Mean is representation of the data

D. None

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_Bmjdlsx1BLdR
https://dl.doubtnut.com/l/_gL2SfHLururG

91. A data of 10 observations has a minimum value 15 and maximum

value 25. What is the mean of the data?

A12

C. 21

D. 27

Answer: C

° Watch Video Solution

92. From the graph what is the mode here ?

A. sun flower

B. ground nut

C. palm olein


https://dl.doubtnut.com/l/_gL2SfHLururG
https://dl.doubtnut.com/l/_2KK9Aw4sArlf

D. all

Answer: A

o View Text Solution

93. The presentation of data can be

A. bar graph

B. Double bar graph

C. pie chart

D. above all

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2KK9Aw4sArlf
https://dl.doubtnut.com/l/_NTUNApP3hTUQ

94. Observe the graph and answer the question

e et

Py
” -

wal -

[ -

'E H" '

w15 4 R—

Bl

Z 1 | '

- e . i1
Sunflower  -Groundniat  Palmolien
- Types of oil

Find ratio between sale of jowar and sale of sugar

A. (10:5)
B. (2:1)
C.(2:3)

D. both A and B

Answer: B

I ° View Text Solution


https://dl.doubtnut.com/l/_AOiWFBYihRzs

95. Observe the graph and answer the question

H

L

A

1

Sunflower  -Geoundnist Palmolien
Types of oil

-

HOW much sale over rice is more over wheat?

A5

B.10

C.15

D. 20

Answer: B



https://dl.doubtnut.com/l/_AOiWFBYihRzs
https://dl.doubtnut.com/l/_Eh4pC8Ue6any

I & View Text Solution

96. Observe the adjacent figure and answer the following questions

I L =

g

hixrks

cpRysgsy,

= Wari I H_ﬂ

What are the total marks of vani in both mathematics and science?
A. 85
B.70

C.1o

D. 100

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Eh4pC8Ue6any
https://dl.doubtnut.com/l/_pyIs0qZ1Fwe2

97. Observe the adjacent figure and answer the following questions

F S
m.-
&+ Il F -
e .
4wy
3
H]- 1
I A B faths
10 11111 Fr—
0 , ———t
= Wani Hajis Prabha &
Mams of the students. )
i i or L T & L ¥ 3 s

In which subject raju is well ?

A. Maths

B. Science

C. Social

D. telugu

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pyIs0qZ1Fwe2
https://dl.doubtnut.com/l/_pocsBApiHAJI

98. The adjoining pie chart gives the expenditure on various Items
during a month for a family. (The numbers written around the pie
chart tell as the angles made by each sector at the centre). Answer the

following : On which Item is the expenditure maximum ?

A.rent

B. savings

C. education

D. food

Answer: D



https://dl.doubtnut.com/l/_pocsBApiHAJI
https://dl.doubtnut.com/l/_vRQbuH730B8S

| o Watch Video Solution

99. The adjoining pie chart gives the expenditure on various items
during a month for a family. (The numbers written around the pie
chart tell us the angles made by each sector at the centre.)

Answer the following-

[[]5avinz: [o¥] Education [E]Fent [ ] Food

If the monthly income of the family is Rs 9000, what is the expenditure

on rent?

A.3333

B.3500


https://dl.doubtnut.com/l/_vRQbuH730B8S
https://dl.doubtnut.com/l/_UxsbolKmsSqc

C. 4561

D. 2500

Answer: A

° Watch Video Solution

100. Collection of information in the form of numbers or words is

called

° Watch Video Solution

101. Collection of village population details from census register is

type of data.

o Watch Video Solution



https://dl.doubtnut.com/l/_UxsbolKmsSqc
https://dl.doubtnut.com/l/_X7Wg1n0kb9dT
https://dl.doubtnut.com/l/_VUwD8uQDD4LN

102. The another name of Arithmetic meanis

° Watch Video Solution

103. Arithmetic mean =

° Watch Video Solution

104.The mean of first 10 natural numbers

o Watch Video Solution

105. Arithmetic mean always lies between observation and

observations of the data.

o Watch Video Solution



https://dl.doubtnut.com/l/_Nf1hPrAJ7RXy
https://dl.doubtnut.com/l/_ePnX4POP8Rb2
https://dl.doubtnut.com/l/_vJs4HfNSOxc0
https://dl.doubtnut.com/l/_6mSLIQkz7nOm
https://dl.doubtnut.com/l/_7rJjihBFODkS

106. The difference between highest and lowest values Is called

° Watch Video Solution

107. The range of first 100 natural numbers is

o Watch Video Solution

108. What is the range of first ten whole numbers?

o Watch Video Solution

109. The mean of x-1,xand x + 1is

o Watch Video Solution

110. What is the mean of factors of 12 ?


https://dl.doubtnut.com/l/_7rJjihBFODkS
https://dl.doubtnut.com/l/_UNi35otUU106
https://dl.doubtnut.com/l/_FqXsEWglgzmk
https://dl.doubtnut.com/l/_63m4houQUcty
https://dl.doubtnut.com/l/_zgwL6ZXVooVT

° Watch Video Solution

111. The observation which occurs most frequently in a data is

° Watch Video Solution

112. If a data having one mode is known as

° Watch Video Solution

113. A data having two modes is

° Watch Video Solution

114. The mode of AB,C,E,D,F,C,B,R,M,E,C,N IS

[ e~ |


https://dl.doubtnut.com/l/_zgwL6ZXVooVT
https://dl.doubtnut.com/l/_dPxgfULkQBUu
https://dl.doubtnut.com/l/_WjGm81iC8QHi
https://dl.doubtnut.com/l/_lcLt72W9I71F
https://dl.doubtnut.com/l/_fz6CL96smLt4

[ & Watch Video Solution ]

115. The mode of 10,10 ,12,12,13,13 is

° Watch Video Solution

116. By arranging the given observations in ascending order then the

middle most observation is called a

o Watch Video Solution

117. For a distribution with odd number (n) of observations, the

median is ... th observation.

o Watch Video Solution

118. In 8 observation of a data median's observations


https://dl.doubtnut.com/l/_fz6CL96smLt4
https://dl.doubtnut.com/l/_1kG7n2iz1F7c
https://dl.doubtnut.com/l/_IybKL2JQvMw1
https://dl.doubtnut.com/l/_VrH6dOMGGSuQ
https://dl.doubtnut.com/l/_kZuY0DY57zRn

° Watch Video Solution

119. The sum of all angles of sectors in pie chart is

° Watch Video Solution

120. In bar graphs the length of the bars on axis.

° Watch Video Solution

121. Arithmetic mean =

o Watch Video Solution

122. What is the range of first 5 natural numbers

o Watch Video Solution



https://dl.doubtnut.com/l/_kZuY0DY57zRn
https://dl.doubtnut.com/l/_WFyCZO0B3YDH
https://dl.doubtnut.com/l/_vQntnbaqhWU3
https://dl.doubtnut.com/l/_RXGwwPq3RP2x
https://dl.doubtnut.com/l/_0wDxDn7VzBnZ

123. What is unimodal data?

o Watch Video Solution

124. Find the mode of 10,15,2,15,4,6,15,7,15, and 20 ?

o Watch Video Solution

125. Find the median of data 32,43,25,67,46,71 and 82.

° Watch Video Solution

126. True /false

The difference between maximum and minimum values is mode.

o Watch Video Solution



https://dl.doubtnut.com/l/_0wDxDn7VzBnZ
https://dl.doubtnut.com/l/_EEQJ7GNqm6Re
https://dl.doubtnut.com/l/_YP11i81FduL5
https://dl.doubtnut.com/l/_UspF1RVeT2TR
https://dl.doubtnut.com/l/_fgaV5pklewNS

127. True /false
The observations which occurs most frequently in the given data is

called median.

o Watch Video Solution

128. True /false

Data having two modes is called bimodal data.

° Watch Video Solution

129. True /false

n+1
2

If the number of observations n is odd then the median is

observations

° Watch Video Solution



https://dl.doubtnut.com/l/_yWmBmn5m2jf7
https://dl.doubtnut.com/l/_drstR5XIRXkU
https://dl.doubtnut.com/l/_hz1vyHAGbG0C

130. A cricketer scores the following runs in eight innings

58,76,40,35,46,45,0,100 find the mean score

o Watch Video Solution

131. your friend found themode of a given data describe and correct
your friends error if any 35,32,35,42,38,32,34

mode =32

o Watch Video Solution

132. Find the mean of the first five prime numbers.

o Watch Video Solution

133. Find the mean of the first ten natural numbers.

| ﬂlll,l,l,\",l,,n,l n®


https://dl.doubtnut.com/l/_1GyFGKIqCd1s
https://dl.doubtnut.com/l/_Tg8ItQqAFabE
https://dl.doubtnut.com/l/_bXOUkY5vjsHL
https://dl.doubtnut.com/l/_B71M4lClk7al

| " vvaldil viaco S50I1ution ]

134. The monthly incomes of 7 graduates is ¥8000, ¥9000, ¥8200,

7900, 8500, ¥8600 and ¥60000. Find the median income.

o Watch Video Solution

135. Find the median of 49, 48, 15, 20, 28, 17, 14 and 110.

o Watch Video Solution

136. The marks (out of 100 ) obtained by a group of students in a
science test are 85,76,90,85,39,48,56,95,81 and 75 find the highest and

lowest marks obtained by the students

o Watch Video Solution



https://dl.doubtnut.com/l/_B71M4lClk7al
https://dl.doubtnut.com/l/_XairoKjxnr5I
https://dl.doubtnut.com/l/_AenhVdo2qmGy
https://dl.doubtnut.com/l/_cvxV8nfYuFHE

137. The marks (out of 100 ) obtained by a group of students in a
science test are 85,76,90,85,39,48,56,95,81 and 75 find the Range of the

marks obtained

o Watch Video Solution

138. The marks (out of 100 ) obtained by a group of students in a
science test are 85,76,90,85,39,48,56,95,81 and 75 find the mean marks

obtained by the group

° Watch Video Solution

139. Find the mode of 2,6,5,3,0,3,4,3,2,4,5,2,4,

° Watch Video Solution

140. Find the mode of 2,14,16,12,14,14,16,14,10,14,18,14


https://dl.doubtnut.com/l/_YMNFIsDYXWWd
https://dl.doubtnut.com/l/_D9odks42oDQe
https://dl.doubtnut.com/l/_OTLLj8VRriGh
https://dl.doubtnut.com/l/_5vvTcjFfAu8D

° Watch Video Solution

141.  Find the mode  of the  following  data

12,14,12,16,15,13,14,18,19,12,14,15,16,15,16,16,15,17,13,16,16,15,15,13,15,17,15,14,15,13,15,14

o Watch Video Solution

142. Say true or false and why? The difference between the largest and

smallest observations in a data set is called the mean.

o Watch Video Solution

143. Say true or false and why? In a bar graph, the bar which has the

greater length indicates mode.

o Watch Video Solution



https://dl.doubtnut.com/l/_5vvTcjFfAu8D
https://dl.doubtnut.com/l/_NQLAcqJKJEzu
https://dl.doubtnut.com/l/_bTVsCyOTyB5T
https://dl.doubtnut.com/l/_pbbRcJmEeCEB
https://dl.doubtnut.com/l/_1esbyGq75GaJ

144. Say true or false and why? Value of every observation in the data

set is taken into account when median is calculated.

o Watch Video Solution

145. Say true or false and why? The median of a set of numbers is

always one of the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_1esbyGq75GaJ
https://dl.doubtnut.com/l/_woc5ZzyO52VR

